“FRAPPY”

Q 2012 The following problem is taken from an actual Advanced Placement Statistics Examination.

Your task is to generate a complete, concise statistical response in 15 minutes. You will be graded
\ Pmblem 4 based on the AP rubric and will earn a score of 0-4. After grading, keep this problem in your binder
% for your AP Exam preparation,

A survey organization conducted telephone interviews in December 2008 in which 1,009 randomly selected
adults in the United States responded to the following question.

Al the present time, do you think television commercials are an effective way to promote a new product?

Of the 1,000 adults surveyed, 676 responded “ves.” In December 2007, 622 of 1,020 randomly selected adults in
the United States had responded *“yes” to the same question. Do the data provide convincing evidence that the

proportion of adults in the United States who would respond “yes” to the question changed from December 2007
to December 2008 7

Part 2 - Complete a comparable CI. Do the TOH and CI, provide the same inference conclusion? Explain

Scoring: Tz trve proportion 14 2007 thet seid “Yed’ comm ercicl s

are efFeche: 4o promote
E P I ; bocts
?oq‘i‘f'me proparhdn IN 2008 o o - ?ri, ,,c
Ho! P°7 “Pos - : <
. A=005 | MECHANICS
H’ﬁ- Po7%’?08’ e 2
2.007 Rah.
E P I le Z +est b G = > zi
“Test~ 2 Sempie X= 616 Xx=06
e Prope- Hants n= 1, 009 n=i,0te
A A
) - 0.bo
| R P:0.6699F p=o0.6ol%
Condihons 07 og
kon‘._lcm: Readam Scmples e ken ” b = 0.0601F
ecch yecr b7~ Pos ™ = s
s i . n Tt
; Tndependent : P = 0.6397 i;:.;a—m?\)
* The & Semples are independ <!
. ‘ V Flement
S loce "'4\{1 ar € A«lqe 4 ym- \’u\\ft PV}}UQ
& 1009 é_-;l‘o‘ oll aclu“:s%Z_Oo:l'} 7 \ ; »
; S
1 N : |4
» Jozo& ;:,'(a“ adoltsin 2008) o 'to’%
A < =
P I Norm el (u5e, pa\ /\f%& shhshe b b
® A 2 é'ﬂ:zlo/ =
2007 g’.“;z((llo;o:)) = 3,37 10/ ?\/c\\’ﬁ - 3 5 P(Z7Z*%Z> 00\\‘0
, 0"

+ 2009 0.6 (1620)2 (,§37 10/
©.36 ([020): 36771/ __——? Total: /4



o ( CoMT\
g =

Cmdos.‘m %Mcc‘H\L f‘?\/ciue (0.004&3 \ S less*H\m
We. have Conua‘nc(n;

ol = 0.05, we f‘e(jec‘? Ho.
e\)\*acm:_e_ Yhere IS a dr Herence O"" o‘ofm‘dfz :
be{-wecy\ 2007 and ZCOE who Lo Id anfwe’:o‘MYES
“To 4he Questiod R Commgrc;‘o!s arc eﬁz’:‘:i‘ AT

’T?DH i kot &
i QSOOCI

Compaee B At

For A 2TAlL TOM b/ 15 0.0S

Vercmeters — Tyy-tPos def) Ed t+he scme

j.’:Eé-T"' Z3semple Zinte-vel fo- difleesce o ?"ofbr“'\\w\rg
dmi:'h\)ds— Readsnm« Inclepm*‘ Ha Scme

Cen Usec e
X\/‘;/UQ'S "R)"
Svccesses v e lureg

Normeal: 2007 : C70310v 3330107
Zod & (222 loy 39% > loy

3
B =20 6Lag7 A ; =t
€ e .05 ¢z leois, o.102]
= b O / ”~
A Pos . ?8' _/ Pn“?&g 4
£l e P R
For—fg= c:0bOIF  _ 0.0 006 X_o02

INFéte~nce Com cu USies

[z concvsions|
| WEhLe 5D Confident thed Hhe BASED 0N ol =0,0S, Ou& CT
+rve diflerence in P’deof“":dNS heus S“PPW""B dhe TOH conclubiom
l\nmaseé $rom, 2007 fo 2008 in Opinidns becawse “0% is Mor IN Oue

\ ; chue .
who soy ' cemmercicls are e e 450 ¢ T [o.0r, 0.103] . Thereture

to Promdte frao)uds" s be trueen i :
.§% end 16.2% ., | We weold reject o

= 3




